Install Forklift ‘e‘

4 A 4 A
. M3*5mm/
K M2.5*5mm Screw) k Screw )
® Step1 @® Step2
4 A
%‘i/
crew
-
\ J

® Step3 ® Step4

P10



‘5 Install Forklift

o o)
- .- ,_3 -
3 [ DSl

7

M3*5mm e
Screw
& M2.5*5mm Screw

’

i!\/IS*Smm Screw

V. \ V.
® Stepb
\ [M3*5mm Screw \
i
e
M3*5mm Screw CMS*BCBWE =
opper Bol ;
J \ pper )
® Steps8

P11



Install Mechanical Beetle ‘9’

P12



P13

.e,

&

[ M3*5mm \
e?»; __.'I 5 Screw
\_ V.
® Step1
4 )
M3*5mm Screw
::..-9 u 1'1&'}’
\_ V.
® Step3

Install Mechanical Beetle

'

\

« 4p

1
~yill]
|

a2

-

M3*5mm Screw

® Step2

-

M2.5*5mm

—

@ Step4




Install Mechanical Beetle ‘e‘

( M3*18mm Copper Bolt —. \

=N

ik

k *5mm Scrw
® Stepb
( M3*5mm ScreW\

M3*15mm —=
Copper Bolt

[ )
< 5
: M2.5*5mm

k Screw J
® Step5

( )
\ .
® Step7

® Step8

P14



g Install Pan-tilt-zoom Mechanical Beetle

Diagram

M3*5mm Screw

Side View ‘i

M3*35mm
" Copper Bolt

S



Install Pan-tilt-zoom Forklift ‘9’

M3*5mm Screw

Side View ';

M3*35mm
Copper Bolt

P16



g Install Pan-tilt-zoom Loader

M3*5mm Screw

Side View

; i M3*35mm
rCopper Bolt

P17



Install Rotating Forklift ‘e‘

M3*5mm ScreW*L\—L
j Ly
T

P18



‘Q‘ Install Loading Truck

P19



Install MPEV g

M3*5mm Screw

P20



$ Install Liftable Mechanical Beetle




Install Liftable Mechanical Beetle ‘e‘

M3*5mm Screw

P22



Welcome to
www.dfrobot.com
for more details



